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QUESTION 1

Given the following command: 

vxassist -g datadg make datavol 10g layout=stripe !ctrl:c2 

Which instruction does the !ctrl:c2 attribute prompt Veritas Storage Foundation 6.0 for UNIX to follow? 

A. to exclude devices connected to controller c2 

B. to use only devices connected to controller c2 

C. to use two LUNs to create the volume 

D. to stripe across LUNs on c2 only 

Correct Answer: A 

 

QUESTION 2

In which two situations is a Data Change Log automatically created when mirroring an existing volume? (Select two.) 

A. Any time a volume is mirrored. 

B. The volume was created on thick LUNs. 

C. SmartMove is enabled on the volume. 

D. The volume is larger than 1G. 

E. The volume was created on thin LUNs. 

Correct Answer: CE 

 

QUESTION 3

What is the correct RAID level for a layered volume layout that combines mirroring with striping or concatenation? 

A. RAID-0 

B. RAID-1 

C. RAID-0+1 

D. RAID-1+0 

Correct Answer: A 

 

QUESTION 4
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An administrator needs to move all data volumes and disks in diskgroup appdg into an existing diskgroup named
webdg. The end result will yield one diskgroup on the system: webdg. 

Which command should the administrator use to move the data volumes? 

A. vxdg move appdg webdg 

B. vxdg split appdg webdg 

C. vxdg join appdg webdg 

D. vxdg add appdg webdg 

Correct Answer: C 

 

QUESTION 5

Which three settings impact the size and performance of the Symantec Mail Security 8300 database? (Select three.) 

A. report retention 

B. log levels 

C. quarantine retention 

D. compliance incident size 

Correct Answer: ABC 
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